EARAROBEEIERT — 2 N— IBISH —F

20145 1H9H (K) 17EI%#A3H

IR >R C 44 C4 ¥5%—# EEDE IR
[AE4£] 1% :130,000 ™ ~ 2#%:26,000”  3#%&:13,000”  4%&:0MH / 5&:0M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
° N EE# : 00— - KT (5H12)
ilglg|vzs7=u> i 4 54_01 1.(4_5).1 2-2-2-2 | 38.0 2 (4_141) i_n:7 A
L:d—RAfE— B:AXITU—k RSIZMRY—T7—L
R AEE] : -1-1- = HOEE (5H)
21718 JRLT 72X 4 5 gl 1.(415).3 1-1-1-1 | 38.4 6 (4_219) Rl A
L:xrinqao— B:UYMLIO-UTZX e dibve )
. 4 5 | B 1:45.8 4-4-3-3 [ 38.6| — 4 453 | LIREBA (%)
EH 2| TX /ALY 56.0 2 1/2) 4 | B Y P N #H
R:VZIRBE—IZ24— B:LTF15v7 KT 7— L
“ N PR :46. —6-6- . - HEET (5H)
NAREESVESZ it 4 L (11416/21) 6-6-6-5 | 38.6 3 (4_716) s A
R:ZZATLA BiL—EZTTY R 75 Fiis
= — s > ETIEs 146. -3-4- . — JIUBAE (55#)
50111 | FZ7®71v 774 R 1(7465; Foaa |08 1 :1_753; LSS )
RTRATy RTFA BELHA—-IECR X A
o o © EHERE 146. —7-7- . — IR R (%1
6177 F45yFG—JL R % 7 =i 1(14/62)2 8-7-7-7 | 38.6 7 :11(2)) A A
R:2¥v2—HYd—ILK B:2h/ V-T2 BEH #%8
P 5 | tEREE 1:46.6 10-10-8-7 | 38.6 | — 5 465 | BEEEHIER (5H)
7 | 1TETN—F— * 5.0 @ 2 | B T
RTIRAFS AN B:RA2T7E-—L ARETa—T7—L4L
S RS Blafits : 55— — NRBEER (5542)
Y 6 IR A # 7 B8 1.(427).0 5-5-5-6 | 39.7 10 :_529) A (5
RiLF¥aT—4A2N— BEAXHTUFxo R ENCPERSIZ ¢
" R 148, —~8-10~ . — SIEEF (&2R)
9 MRS EEaY o6 e 1 (458)1 7-8-10-9 | 39.9 8 (4+565) e
R:8Z/FXLLy b B:5TRy TR me #FA
- = 7 | WTHZ 1:49.4 9-9-9-10 |41.2| — 9 461 | /NERREEBR (S212)
10(8]10| ¥27 77177 # 252.0 ®) -9) &) LEATAT K
L:Fa158) B:xav74-—Tvr ke
® 1—F—@EBIERL
1T=7r= 8,9,1,2,6,5,4,7,10,3
2a=5F= 8,9,1,2,6,5,7,4,10,3
Ja=5= 8,9,2,1,6,5,7,3,10,4
40—F— 8,9,2,1,5,6,(3,7),4,10
[ N5
B 9 240M 714K 8-9 950 e E 7-8 1,920 JEE 2-8-9 6,930
B B 9 1609 2-9 180H B = 8-9 4,290M EE 9-8-2 29,470/
8 560M 2-8 2,040 B H 9-8 3,530M
2 1609

ABICOVWTRDTEEERROODE. TR LIV,




